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2019 K

BOTANY
( General )

( Plant Physiology and Biochemistry )

Full Marks : 40
Time : 2 houi's
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer the following questions/Fill in the
blank : 1x7=7
e PP T /<1 o1 @9 31

fa) What are imbibants?

SRR R f
|l
(b} Who had proposed the theory of K*%

transport and hormonal regulation for
opening of stomata?

A (T (AR IR *OIRAT SRA ARIZT W=
29’ U ©F FNA WORGERE ?

{c) Yellowing of leaves and development of
chlorosis is due to deficiency of

S TR @R WE VPR Ber 3
RS (TR “Refre 77 |

(d) What is RuBisCO?
Ry 2
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(2)

{e) What is the net production of ATP in an
aerobic respiration from one molecule of
glucose?

]S O AfFATS O 33'E W 9 I (net)
ol e @ 6.5 Sem 27

() Which plant hormone is involved for
production of parthenocarpic fruits?
2 T Teoms (@FERY Sfew 20T wfive 07
73 ?

(g) Write the name of non-protein part of an
enzyme.

BT W2 57 WENOR AN SeEy 1

2. Answer the following questions (any fourn :
2x4=8
e il enpiged s fr (R e o)

fa) Distinguish between diffusion and
osmosis. '

oA E PO 14 SrEy 9 |

(b) What is hydroponics? How can you
differentiate it with sand culture?

| arii!?aaas#qﬁwmﬁﬁw«wquw
IRA1?

() What are the characteristics of C,
plants? Give two examples of C, plants.

C, e sRamr & &2 c, Sfem 7o
BRI TEY 90
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(3)

(d) Differentiater between auxins and
gibberellins.

e ' oW we RRiEfEae sorer S
31

(e) Distinguish between vernalization and
devernalization.

PIFIT TE FPRFEH A1 Begy 41 |

3. Answer any three of the following questions :
3x3=9
R SPPIRA <d1 f ren fofRbm T fiw
(a) What is ascent of sap? Write briefly about
cohesion-tension theory of ascent of sap.
' 1+2=3
oceE 7 IoweER  df@ER @nEA-
e’ Ogd {90 oL 361 91

(b) What are micronutrients? Write about
the physiological role and deficiency

symptoms of phosphorus. 1#2=3
gz & 2 Teea <RAgem i
WF R oS 79l i ToppsigR -

() What is transpiration? What are the
different types of transpiration? 1+2=3

407 3 2 Jorm & @ 4992

(d) Write about the structure of an énzyme
with diagram. 3

3 T2d BeoTee M9 ey 3ot ¥ 1
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(4)

(e) What is seed dormancy? Write about the

factors affecting seed dormancy. 1+2=C
R e 2 T EOARGS fRsca
3 340 |

4. What is pentose phosphate pathway? Write
about the mechanism of pentose phosphate

pathway. 2+6=8
CTB"R FRCT0 A 2 o1’ TRID AR® fF-crs
361 79 |

Or / 9231

What are enzymes? Write about the
mechanism and mode of enzyme action. 2+6=8

TR &2 Beome iz Ry T

BN

5. What is respiratory quotient? Discuss about
the anaerobic breakdown of glucose through

EMP pathway. 2+6=8
T e 2 2 4w ww W owew
oI g ed oifd @ Af ek I v 1

Or / §=a7

What is nitrogen fixation? Write about the
biological nitrogen fixation in plants. 2+6=8

ARG'E REsT R SRm AR W%
fRrcavae e 3 v41
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